20234 12A38 €iR 10R %5 9@ HAMHIHULF—T>

% & | 10R H50M RAFIRLLES—T> e 9_2 bt @ if%gg%ég‘ Voot 4 HE 1 1 EE’;‘ }
: 5 w K —fn Ry sFISEBRRY - 1
18:15 |#5TLy F&R i BIE 541 BF L—R5y U HIS 1 MHH 1 WHM 1 MM I Grant 4
R MR | PREK | EETES T i 35 E AR B) B HTE=L—R%& L—T14v¥ 95X 3MTE=%EIE BEHK-EEF- A K
7B & E % B F | MBIMM LB £ro128%] BB F 2000m 2. 3. 4A@EBIEL 5«75 BB - O—X - Etﬂ#ﬁw 244 EARYIF
B & | B 2 |@xE®/r8|m  4EuT | ¥ 1600 =L— #3F (LY, N, s;gm FI#$3 FiL EBIRE A9-h~4f - 3B ~4/ - #3F(5~1) LY 3 FIEMR
HEEARGERES WH | £ 5 | F0008% (sm & | BRy on| L—RALYSFEAL - HBEQOLYSFEAL > 05 OBAKT HIE=1EBEXE2EE GEE) 1. 2. SEBOWE
£E/BE o | BERM | 1171 AR # BETR| M % o500m i WA 3R AFERT 5ERT
TIA—F RE| 48 B | A:A:: |&H 2427 | —F1200 (237027 35 ¥ @ 23,1008 57 & &R |23.00.0546 & HukE|2300.1438 & W 23060479 & &R
NIHUTTY R | e B 441-468 | JH0.0.0.0 | F50.000 | EEY{— 3@BE|RSU T A u#“' (& EH | EEYY— UL |BEAEE ( 3
-~ ~ 54.0 .155| f 52-56 | &4 23.4.2.3 [ F/00.0.0.0 [T 1288 9% 24 # | 1 5B 8% IA kst 1058 3% 1A T TimsE A 1 1288 7E 1A
1o |+—vELx = | mEz £ 2069 | 24 0.1.0.2 | =—3.0.0.2 | 454 -2 HRI 55 @D | 456 +3 HEE 56 DDD 453 2 EREE 56 @3®| 455 0 HEE 55 @DD| 455 +5 HEE 55 DOD
(FSAFUREAL) SR 269| £ 2069D | EX8.3.1.0 | ==0.0.0.0 | 1870n & # 2:02.8 39.0 | 1900m & E 2:01.3 38.3 [ 1700m % B 1:51.0 43.2 | 1700m % # 1:53.3 38.5 | 2100m % # 2:15.0 39.1
=AEKS [%]] 23524 |Z 4101 |252524 |- @ -@| HiM 30.1 534 (2) | HHH 38.3 534 (1) | HHS 40.2 411 (10) | MM 38.7 534 (1) | HHH 39.1 534 (1)
g A 1.1.0.0 | #155%12%1580| £3¥0.0.0.0 [ &48 2000 | A3h3-94(-0.5)  3KHEk | 7594705 - (-1.8) sk [ 77 V-4 70an(3.2) SeskiB | ¥ vt H(-0.5) k538 | 4450 (-2.9) A8
FHS5ILSToF 2|26 B . ... |®F 1242 | =F01.1.0 231031 24 & §,R 23.10.17 23 3 ER |86 1320 &8 &R (23053022 8 &R 28051427 & &R
H455)La—IL H403A B 484512 | U& 53217 | FR21.1.4 | BREB 1 BERRA Y B1 ]HT;#%EI]B 1 B1 REBA Bl | R ERH B
7 56.0 .125| Fr 56-57 | &4 144518| FALLL3| T 1288 4% 1A 17 108 7% 4N H 958 3% 1A 3" 08 3% 3A 2 7E 4% 4A
2 $55L—% HE | 28— &7 2000@) | £43.21.9 | =—0.0.0.0 | 493 0 FEHZ 56 @@ | 493 -2 FEML 56 @D 495 0 %HE 56 @DO|495 -2 £EE 56 @G| 497 +8 £HE 56 QB
(B 50—LL) £iR . 236| K 2075@ §5(71 0.0.0.0 | 1400m & #4 1:28.3 37.8 | 1500m 4 & 1:34.7 38.5 | 1700m % B 1:51.3 40.6 | 1500m % & 1:37.3 40.0 | 1400m % B 1:30.1 38.7
BIEE £ 176626 | 5214 |25 ®-@®-| HWH 38.3-37.9 544 (4) | SHH 38.6 534 (4) | HHS 39.7 513 (5) | SHH 38.9 523 (6) | MHH 38.7-38.9 414 (4)
A&k 0.0.0.0 | #4%11£TBI £% 012 YnYa(=0.7) KEE | 7 ww39(0.3) EME |7 59908 -(1.0)  #EEE | L 39(1.3) ek | A /9 0-797(0.5) %
ERITS) H5 | 35 B .- | &5 000 [2311.14 32 % 2R |23.11.05 41 & #R |[23.10.15 31 & &R | 23.10.03 26 &= 2R |23.00.19 23 & &R
TRETLAS *(EH B 488-534 | U & 10.0.0 | BERAKRA > A | tEERE 3 2 |L\LhbE A2 I Bl |AYRXBT BI
17 56.0 .426| f 54-56 | &4 0.0.0 [ 27 9m 1% 2A BA |6 5 3% 6A 2 95E 6& 1A 1 9m@5E 1A 2 7E 6% 1A
3 FTINLE—S = | migs E4 10.0.0 | 534 +1 HHIE 56 @@® | 533 +4 K& 56 @@ | 529 +3 HHIE 56 ©O@ | 526 +5 HHIE 56 @D | 521 -6 HHE 56 @
(Jump Start) £iR 333 Y 0.0.0 | 1700m & 7 1:49.3 37.3 | 2600m % B 2:55.2 41.3 [ 1500m % & 1:34.6 38.4 | 1900m % # 2:03.9 38.2 | 1700m & # 1:51.5 40.7
EEIN 1] 74119 | = 0.1.04 |25 <@ | MHH 37.7 445 (1) | SSH 36.9 511 (8) | SHH 38.6 344 (4) | M 38.4 544 () | HHS 40.8 534 (2)
() 77-RbE" Y 3y 0.0.0.1 | 472080 | £ 105 | 4 (BN 54y (0. 1) seskesk [ 7/50abov(5.0) kS | Y5 v4-(0.0) sk | /-hy) (-1.5) Sk | 9 794-270(0.0) k%
N=IT 54 o8 [ 45 * A |27 000 [23.11.20 53 & &R 7 E 3 23.09.03 44 3 BN | 23.07. 15 2785
> RSILET thE A B 484-513 | J& 3. 10.0.0 | BREEEA Al ERIBEL A2 BE
Tr7 56.0 .296| fr 56-57 | &S 10.1.1 655 2%& IA W [ 2 88 5% 2A 1 mg 6FE13A
AN 4=-LrE I B H— x4 2.1.8 | 513 +4 ke 56 @DD | 500 0 i 56 @@ | 509 2 hEEE 56 G| 511 +13 hEEE 56 @@ | 498 +6 ATH 60 BBD
(Mont jeu) &R 236 EXS .0.0.0 | 1900m 4 F 2:02.5 36.2 | 1400m 4 ¥ 1:27.5 37.1 | 1400m % # 1:28.3 37.9 | 1500m 4 B 1:34.3 37.6 | 3380m B #3:52.3 13.7
A77-4 [%1] 73318 | = 2.1.1.2 | 256 Ce@- | SHH 36.2 534 (1) [HNH 37.5-37.9 445 (2) | HWH 38.2-38.0 454 (1) | SHH 37.6 534 (1) 39.7 145
FEEE— 3.1.0.0 | #ikeEEl | £% -157 (1.7) k3 13Y+2%/ (0. 2) Sk | TA-9YR5N(-0.9) Sk | ny oz (0.1) HEE | U 79¥-(3.2) KEE
ZANTI=9 5 X T34 B[ o x: . - 23.11.06 39 & 2R | 23. 10. 10 ;s &R [ 23.09.2657 ® @R [23.060458 & @R | 280507 43 F R
LA T7Ak EH 5 454-479 jt@iﬁ‘?: BH &L A BILKE s Jonlll |BFRE ( EH ﬂ*z— [E BH
9 9% TA ks | EUUH 83 3& 11 1288 7% 9A 3 1288 6F/I0A 958 4% BA
5[5 ZXHTA—3 g 464 +1 S 56 @QO@| — HLK 56 463 +5 IR 54 @D | 458 -5 B 51 QOO 463 -2 KK 51 ®DO
(FLVFFE2T ) 2600n 4 B 2:55.5 40.1|1700m 4 & 2100m 4 B 2:17.9 39.12100m % # 2:18.0 39.2 | 2000m & F 2:10.2 39.4
£ IS B3 SSH 36.9 231 (4) | HHM 38.4 HHH 36.7 131 (10) | HHH 39.1 154 (2) | MM 39.2 243 (3)
IMEFEA :LO§E3§3154 7UURIV(5.3) k% B | 9rTY-n(6.9)  SEiksE | #7 42(B3.0)  BKSEIE | MTTS AR(2.3)  skEsE
7 RRAVL—> HT 23.11.20 33 & 2R |23 11.056 31 ® &R |23, 10.08 30 & &R | 23.09.26 29 & 2R | 23.07.30 29 BT
z—= .% 438—438 BEXHEL Al | LB ER 3 FH -I-»f/ kT A | BlIRE®E  gpnlll | BERVE N
— T 56-56 6 68 5% 6A 9 0% 5% 8A 838 7& A s |12 12@IEI2A ks | 13 MEIBBIBA K4t
5(6 FAT—FK RE 454 +6 AL 56 @GO | 448 -1 BE3L 56 DDO® 449 -14 BEEL 56 @@ | 463 +16 B3 54 @@ | 447 -3 KO 57 QOB
(FAINEFyoa) 1900m # 7 2:06.8 39.8 | 2600m &' B 2:58.9 43.2 | 1900m & F 2:07.1 41.7|2100m % B 2:21.6 43.1 | 2400m & B 2:33.5 38.6
RIS 3 %0005 o] SHH 3.2 331 (5) | SSH 36.9 221 (9) | HHH 38.3 231 (8) | HHH 36.7 131 (12) | HHH 36.3 121 (12)
IMEREX 0502380 FHIN47 (4.3) pr 3o FU4UANIV (8. 7) KEE | NYU7I 42 (5.8) KL | 9rTy-0(10.6) SEdkE | 9 43 -L(4.6) ERE
TRART—LoF— 3 Q:A: 23 11.08 77 * JU& |23.09.10 54 ¥ & |23.08.16 5/ & A3 |23.07.09 46 & &R | 23.06.21 55 & =R
LanmHayFy B 439-454 O —45 i | BEARY— B | EHEIR B | MEREE B | ANF—E BH
F 54-56 5 1138 4% 3A 1 128E10% 1A st |6 1438 3% 3A 1 128811& 1A ko[ 1 1288 9% 1A 4
Tlo|n—tzrEa— 3 £ 211D 439 0 ERE 54 @QD | 439 -4 EEE 54 @OD| 443 -5 FFEE 55 QDO | 448 0 B 54 DD | 448 +1 FFRE 55 QOD
(/) ADY) & zmo 2100 &4 B 2:20.5 41.4|2000m 4 B 2:11.5 38.7 | 1800m % 7 1:54.0 38.3 | 1400m 4 7K 1:27.6 36.8 | 2000m % # 2:11.1 37.5
FRBE [%] = 1.0 | MMS 38.0-40.9 233 (3) | MSS 39.0 454 (1) [ MHH 37.8-37.2 223 (8) | MHH 39.0-36.8 534 (2) | SSH 3.7 454 (1)
“”“?m :LG§E6§0)EO 00| MFAyMA(. 1) Sk | AMIFT(-1.2) S5 | -0-1-0(1.9) Sesek | 9 AYEVE 3 (-0.5) HESK | & (YEVN 3 (-0.9) k%
POE (73 R 03 [23.11.05 45 & %R | 23.10.24 40 & &R 23.09.26 57 & &R | 23,0910 40 E &R 23082040 & 2R
;\.__77 S4z24 & 418-446 0.0 | ZEABEER A nEY s At PN .JpnIII -1—4/ < Al %imﬁfa Al
71 =~ Fr 51-54 0.0 |2 113 1% 4N 3 0% 5% 4A 10 1288 2% 8A 788 3% 2N 788 3% 5N
8 RF—HRIAI z &7 21036 0.2 | 446 +1 M 52 DD | 445 +1 MM 52 OOD | 444 +3 MM 52 ooo 441 +2 MIFER 51 DA 439 +2 M 51 @QQ
(FLYFFE2T ) &7 21036 : 0.0 | 1500m & B 1:34.8 39.0 | 1400m & # 1:27.7 38.1|2100m # B 2:17.3 40.7|1700m & E 1:50.2 40.1 [ 1700m % E 1:49.3 38.6
REHs (%] %1133 |25 ®- - | SHH 38.7 533 (7) |HMH 37.5-37.9 533 (4) | HHH 36.7 221 (11) | HHM 30.2 533 (6) | HHH 38.2 443 (4)
BIBH HT5ETE0EO | £ 23| Y-5-7b7(0.3) Sk | THMT (0.2) Sk | 90vrn(6.3)  SEHSE | 7500005 -0.9) Kk | 4150.7) o
SYRE DA T O - 0.2 | 23.11.03 88 & A3 |23,10.22 51 & &R |23.00.28 46 & %M &R | 23.08. 14 B
rSVZFTaFIL B 476-490 | ¥ 00| JBCH S Jonl | HSAD#H Al —R Lh ] BE | ATHRHD A
7 ~ F 53-57 | &4 08 |8 T0mIBIOA B | T O 1% 2A s |1 10WI0E SA A% |5 ¥, 7§ 4N s |1 8EE 5E 2A
1(9|a|>a—2 E &7 2004Q) | £5 1. 0.2 | 477 -8 #AFE 57 @@ | 485 +1 ¥AFIK 56 ©B@@ | 484 -11 ¥sFH 57 495 +9 ¥AFER 571 ©©® | 486 +5 AF X 56 GO
(Efisio) &7 20042 | BX 1. 0.0 | 2000m 4 B 2:09.4 40.9 | 1700m 4 % 1:47.3 36.5 [ 1900m # B 2:03.5 37.8 | 2000m 4 B 2:09.7 37.5 | 1700m & B 1:49.4 36.7
#A77-4 %] 1106 |25 -~@- -| HHH 36.0-38.3 131 (8) | HHH 37.2 445 (1) | HHM 39.6 255 (1) | SSH 371 333 (4) | MHH 37.1 445 (1)
oL L :umésﬁo 52 02| #/527y-k (4.3) %k | Y-5-7L7(-0.5) Sk | 247952 (0.0) ZE5%E [ Gy U-6(.4)  EEE | IR VT AL Kkk
Rya—FL<T Ha EXd 003 MO A9 & &R |2 101,38 & %,R 2_3 09. 10 59 T aFL2 [23.07.02 /1 F 2%aB2 _23 04.22 62 & 2&mI |
T — ht— B i0-i0 | 95 0.1 | ERHRETZ M| B - B3 93 WHEHAE 2897 SR
~ FT 5456 | B4 01 |1 9mIBIA BA| 1 1138 2& 1A Vq 15 1epa1z§1u 12 1288 6% 9A 12 16§E 2B12N BW
T[10[ a2 w1 o%i17 28 ES 0.0 | 477 +7 thEEE 56 @D | 470 10 ke 56 DD | 480 -6 JAiFk 58 B | 486 0 FHIZE 58 486 -8 A 55 ©O
(Broken Vow) 5 0.0 | 1700m & % 1:48.5 38.2 | 1400m 4 4 1:27.6 37.4 [ 1200m # B 1:12.7 36.6 | 1700m & #§ 1:47.7 40.0 | 1400m & £ 1:26.1 37.6
ks (5] %3002 |24 @ | HHM 38.6 535 (2) |HHH 38.2-37.4 534 (1) | MMM 33.8-36.9 154 (8) | MMM 30.3-38.1 512 (12) | MMM 35.9-36.8 353 (11)
ket g 252180 | £ 0. 00| 439Mmr (14 Sosk | WRAT-Y ((1.0) sk [ b vo4-2.0) sk [0 0avh@ D) kEE | OY ALY EEE
Foh—7 (73 EX) 01723 1105 38 ﬁlR 23.10.22 3] % %R | 23.10.08 40 % &R | 23.00.26 47 & 4R | 23.08.29 46 & TR
HIF JE 0.0 | ZFAEER HZ A0 M| &IRRTY BE | SRE Tk Al ERBRELT Al
a4 00 |11 NEIE 64 xn 5 9 3% 4A 7 1088 6% 9A 2 688 3%& 3N 1 TmE2E AN W
811 FooLvgL—% 3 ES 0. .0.0 | 491 -5 fafkik 54 @O | 496 0 HEK 54 B@@ | 496 -5 MK 54 ©B@® | 501 +3 wMAK 54 DDD | 498 -3 WA 54 DDD
(rA1=g7—2) EH 3. 0.0 | 1500m 4 B 1:36.4 39.9 | 1700m 4 2 1:49.9 39.1 [ 1400m % B 1:28.6 37.4 | 1500m & B 1:35.2 38.7 | 1700m & R 1:48.6 38.2
RIS (%1 &4 -®- )| SHH 38.7 322 (10) | HHH 37.2 432 (8) | MHH 38.5-36.8 233 (6) | SHH 38.0 523 (5) | HHH 38.2 534 (1)
FEEh 52 01]v-5-7v7(1.9) SeksE | Ayt (2.6)  sEksk | 5-777F45(1.6) B | V-5-707(0.7) Sk 77934300 (-0.7) k%
LAoR—51> 3 ﬁg 0.0 iag-ild»fm 3 ﬁ‘,R 23.10. 15@42 & g,ﬂ 513'3]50**92 279 EESH gogjosl/ztg E3 §§ %J??F%ﬁf]lg & %g
; NS Jg 0.0 A2 MRO EXBRED v P
FAVEVESAY ) a5 0.0 |17 98 6% 1A 4 108 1B 1A BA |1 8E 6% 1A 17 11 3% 2A 78 2% "
812 SAUE—IUk * £ 0.0 | 420 +2 FERX 53 Q@@ | 418 -4 RFEK 54 @O@® | 422 +1 EFEKA 53 DO | 421 +5 FFEKX 54 ©DD| 416 0 FRKX 55 QOO
(FISATVREA L) &R . 4 0.0 | 1700m & F 1:49.2 37.5 | 1400m 4 = 1:28.8 36.5 [ 1700m & F 1:48.8 37.9 | 2000m 4 B 2:10.8 38.8 | 1700m 4 B 1:50.4 37.4
HEIE %1 7.6.2.3 &4 S@- - -@- | MHH 37.7 534 (2) |HMH 37.4-38.1 235 (2) | HHM 39.5 335 (2) | SSM 38.8 534 (2) | MMH 37.9 435 (1)
KXLRE 5202 | sisiozel 2% 238 0100 | 3zE7Y25(-0. 1) Sk | /7Ry (1.2)  sEEM | M (0.1) Eseak | /763y (0.9) kL [ Y av(-0.7) %%
SRS — 2000mFE4 5 FAK (S£5HHIRT : 2021.12.01~2023. 11.30) EETE MBI 3BENE
JERL ﬁ#i%% HWEEH 1% 2% 3% & BE  ERE * ® (& 1 2 3 45 6 71 8
1 SLHR— 4 3 1 0 0 0.750 1..000 ] @ (3%MWE) 19 14 20 23 29 31 25 34
2 LAvR— 74> 2 1 1 0 0 0.500 o0 =
3 TuF—v 9 1 1 0 7 0.111 0.222
4 N=UsSq 2 1 0 1 0 0.500 0.500 f; ®®%©@
5  L=RHE—3= 5 1 0 1 3 0.200 0.200 o _______
6 UFYFq—X 1 1 0 0 0 1.000 1..000 t
7 F7RAy= 1 1 0 0 0 1.000 1..000 =
8 IRKIT—LIF— 3 1 0 0 2 0.333 033
9 RAVFATERZYY 2 0 1 1 0 0.000 0.500 ® ®®
10 FUovy/FuF 1 0 1 0 0 0.000 1..000 5

2023%12A38 &R 10R %

59@ FAMRIHULFT—T> ¥5TL v FER

—f& BIE 2000m H—k-H

BEEHT O, BRORERZ.

HERH, BFEELE.

FTARTERBERTOHRREBAELTF S,

FENOOEM, EHEELET.



